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All India Maha Mock : NPS Trust Officer Exam 2021 
 

Directions (1-7): Read the following passage carefully and answer the questions given below 

them. Certain words are given in bold to help you locate them while answering some of the 

questions. 

 

India’s ‘water crisis’ took over social media recently. That India’s cities are running out of water, 

coupled with Chennai’s drinking water woes, made the ‘crisis’ viral, raising questions about the 

quality of the discourse and choice of water governance strategies in India. If there is a water crisis, 

what is the nature of the crisis? Where is the crisis prevalent? And how do we deal with it? 

Usually, a delayed monsoon or a drought, combined with compelling images of parched lands and 

queues for water in urban areas raise an alarm in the minds of the public. Similarly, episodes of inter-

State river water disputes catch public attention. However, this time, it was somewhat different. 

Videos and news reports claiming that Indian cities are running out of groundwater went viral. These 

news items could not have gained the traction but for the fact that they relied on a 2018 report of 

India’s own Niti Aayog, which was titled ‘Composite Water Management Index: A tool for water 

management.’ 

Later, thanks to yet another series of tweets by Joanna Slater of The Washington Post, the ‘crisis 

bogey’ lost some of its sheen. Ms. Slater investigated the “zombie statistics” in the Niti Aayog report, 

especially the piece of information that said: “21 major cities are expected to run out of groundwater 

as soon as 2020, affecting [nearly] 100 million people.” Her perseverance led to an eventual 

conclusion that there was no sure evidence for this assessment. 

To be fair to Niti Aayog, its projection was only a means to an end goal: leveraging some action from 

the Indian States. The report’s central goal was to propose a tool, an index, to monitor the States’ 

water resource management strategies and provide the necessary course-shift, beyond supply 

augmentation approaches. The report may have had a lofty goal of promoting ‘cooperative and 

competitive federalism’ but was, in reality, a desperate move to approaches with the States, in the 

absence of any substantive leverage to influence their engage to water resources management. This 

also underscored that the fulcrum of any course correction lies 

with States. 

Second, if the report means that the crisis lies in the depletion of 

groundwater levels in cities below safe rechargeable levels, then 

this is also not unknown. For almost two decades, the Central 

Ground Water Board (CGWB) has been reporting on the 

increasing number of over-exploited blocks across India, the 

‘dark’ category blocks. The recent annual book of CGWB has 

reported 1,034 units, out of the 6,584 units it monitors, as over-

exploited. If this is the ‘crisis’, then we have had it for long.  
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Q1. As per the given passage, which of the following acts point towards the water crisis? 

(I) The news reports and videos that claim the decrease in the amount of groundwater in Indian 

cities. 

(II) States quarreling over the river water and people standing in long queues to collect drinking 

water. 

(III) The fighting over the tanker water by the rural and urban population points toward prevailing 

water crisis in India.  

 (a) Only (I) 

(b) Only (II) 

(c) Both (II) and (III) 

(d) Both (I) and (II) 

(e) All (I), (II) and (III) 

 

Q2. What was the result of Joanna Slater’s investigation as per the passage mentioned? 

(a) The report suggested that the ground water levels in some cities are below safe levels. 

(b) Her determination eventually led to a conclusion that there was no credible evidence for the 

claims of NITI Aayog report. 

(c) She claimed that the news and video reports truly pointed out the water crisis in the country. 

(d) The water reserves were used in excess and their exploitation was leading to barren patches was 

suggested in the study done later. 

(e) None of these 

 

Q3. What did the report presented by NITI Aayog claimed as per the passage given? 

(I) The report proposed a tool to monitor the States’ water resource management strategies. 

(II) The report suggested a leverage action from the Indian states and to provide a necessary course-

shift, beyond supply augmentation approaches. 

(III) The report claimed that 21 major cities would run out of groundwater till 2020 which would 

affect about 100 million people. 

 

(a) Only (I) 

(b) Only (III) 

(c) Both (I) and (II) 

(d) Both (II) and (III) 

(e) All of the given options  

 

Q4. Which of the following sentences express the meaning of the phrase “lost some of its sheen” as 

used in the given passage? 

(a) The enrollments in the B. Tech and B. E. are on a downfall in the country. Maybe engineering is 

losing its sheen. 

(b) Excess of polishing led to the loss of the sheen of the table. 

(c) The Taj Mahal's regal white walls are losing their sheen because of pollution and bug dung. 

(d) Both (b) and (c) 

(e) None of these 
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Q5. A line is underlined in the given passage containing some word written in bold . Amongst the 

given bold words which of the following words must be interchanged to make the sentence 

grammatically and contextually correct and meaningful? 

(i) Competitive 

(ii) Approaches 

(iii) Substantive 

(iv) Engage 

(a) (i)-(ii) 

(b) (ii)-(iv) 

(c) (i)-(iv)  

(d) (ii)-(iii) and (i) and (iv) 

(e) None of these 

 

Q6. Which of the following is the SYNONYM of the word “prevalent” as used in the passage? 

(a) Spruce 

(b) Perilous  

(c) Widespread 

(d) Rare 

(e) None of these 

 

Q7. Which of the following statement is TRUE as per the given passage? 

(a) The water crisis went viral about the Indian cities not having enough drinking water.  

(b) The people are fighting amongst themselves because of the scarcity of water.  

(c) The inter-state river disputes are because of the increase in the amount of water pollution. 

(d) Excess of rainfall in Kerala has led to increase in ground water level in the state.  

(e) None of these 

 

Directions (8-10): Read the following passage carefully and answer the questions given below 

them. Certain words are given in bold to help you locate them while answering some of the 

questions. 

 

Hostility towards the media is a defining feature of hyper-nationalist politics in many countries. In 

India, the Centre and several State governments have not merely shown extreme intolerance towards 

objective and critical reporting but also taken unprecedented measures to restrict journalism. The 

Finance Minister’s recent order barring credentialed reporters from the Ministry’s premises is a case 

in point but this is not an isolated measure. There is a systematic attempt to limit the scope of 

journalism in India through physical restrictions, denial of information and hostile rhetoric against 

journalists by senior government functionaries. The incumbent government is unlikely to take the 

Reporters without Borders (RSF) report seriously. While expression of concern by foreign countries 

or global bodies regarding human rights, religious violence or media freedom is routinely dismissed 

as external interference in India’s sovereignty, the government knows all too well that in a globalised 

world these perceptions matter.  



4 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

What else would explain the Prime Minister’s single-minded pursuit to improve India’s position in 

the World Bank’s annual Ease of Doing Business ranking? If India is concerned about its reputation in 

terms of business and investment, it should be equally or even more concerned about its standing as 

a democratic, pluralist country with a free and dynamic press. That is not so much for the inflow of 

investment or luring global corporations, which may care little about a destination-country’s 

democratic credentials — but for India’s well-being. 

 

Q8. Which of the following statement proves that the current government is trying to restrict the 

media?  

(a) The limits funds given to the press and media by the government. 

(b) The barring of reporters by the Finance Minister from the premises of Ministry. 

(c) The use of force over the media and reporters during the time of attack over the ministry. 

(d) Mobilization of media from their headquarters and pressing false charges over the reporters. 

(e) None of these 

 

Q9. Why does the Indian government dismiss the concern of the foreign countries over the freedom 

of media? 

(a) In order to keep the integrity of the country intact the government dismisses the concerns. 

(b) Too much intervention by the foreign countries is bad for the freedom and development of India. 

(c) The global bodies try to degrade the economy of the country hence the government dismiss the 

global bodies. 

(d) The government dismissing the concerns as they are external interference in India’s sovereignty. 

(e) None of these 

 

Q10. As per the given passage what is the reason that India should be concerned about the dynamics 

of the press? 

(a) For the well-being of itself, India should be concerned about the freedom and dynamics of the 

press. 

(b) To capture the corrupted and criminalized politicians the freedom of press is necessary. 

(c) For the inflow of investment and luring the global corporations. 

(d) Both (a) and (c) 

(e) None of these 

 

Directions (11-15): The following questions consist of four sentences. One of these may or may not 

contain grammatical error. Choose the option which denotes the sentence that is grammatically 

incorrect. If all the given sentences are correct, choose (e), i.e., “All are correct” as your answer. 

 

Q11.  

(a) Indian entrepreneurs are making waves throughout the world; their ideas are yielding 

unprecedented growth.  

(b) The company is negotiating new store launches at nearly half the lease. 

(c) He has no right to attend the meeting since he has not been invited for it. 

(d) The government decided to stop all the sale abroad because of the recently passed resolution. 

(e) All are correct 
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Q12.  

(a) The government has already tested the UN’s will in the Kashmir issue and faced no repercussions. 

(b) It would be simplistic to assume that a rise in unethical practices in medical line is solely the result 

of private medical education. 

(c) Governments must reduce its own energy use and promote conservation to its citizens. 

(d) Every year, Indian pilgrims undertake an arduous journey to the high-altitude Kailash 

Manasarovar. 

(e) All are correct 

 

Q13.  

(a) The ‘intensity scale’ could be formulated to judge and predict the intensity of rain in a given area 

and at a given period of time. 

(b) Knowledge of at least two languages are required to pass the examination and migrate to USA. 

(c) Last week, the Southern Transitional Council (STC), turned against their masters and captured the 

presidential palace in Aden as well as the city’s main port. 

(d) One of the most unedifying sights in public life is lawmakers taking to organised disruption of 

legislative business. 

(e) All are correct  

 

Q14.  

(a) The current Budget session sailed through with minimal disruption and high productivity. 

(b) The Reserve Bank of India (RBI) has delivered a Goldilocks cut of 35 basis points in the 

benchmark repo rate. 

(c) The recommendation of an inter-ministerial committee that India should ban all private 

cryptocurrencies comes as a surprise. 

(d) The attack on Afghan vice presidential candidate Amrullah Saleh’s office is a grave reminder of 

the crisis the war-torn country is going through . 

(e) All are correct 

 

Q15.  

(a) In about five minutes they would cover the distance from the 

road to the point where the sea waves would begin lick their feets. 

(b) A mere increase in the court’s strength may not be enough to 

liquidate the burgeoning docket. 

(c) Unless the government responds with its own measures, the 

RBI’s efforts to support growth may go in vain. 

(d) In the days to come, India can expect Pakistan to raise the 

Kashmir issue at the United Nations. 

(e) All are correct 
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Directions (16-20) In the following question a part of the sentence is given in bold, it is then followed 

by three sentences which try to explain the meaning of the phrase given in bold. Choose the best set 

of alternatives from the five options given below each question which explains the meaning of the 

phrase correctly without altering the meaning of the sentence given as question. 

 

Q16. Question of time 

(I) The terrorist who attacked the ministry will be killed; it’s a question of time. 

(II) The question at that time was whether to move forward or to stay intact. 

(III) Summing the amount provided in the question in the time allotted was a difficult task. 

 

(a) Only (I) 

(b) Only (II) 

(c) Both (I) and (III) 

(d) Only (III) 

(e) All (I) (II) and (III) 

 

Q17. Null and void 

(I) The spokeswoman said the agreement had been declared null and void. 

(II) The presence of light at the far off planets is null and is void as sun is too far from them. 

(III) Administrative punishments shall be null and void, if they are inflicted without legal basis. 

(a) Only (I) 

(b) Only (II) 

(c) Both (I) and (II) 

(d) Both (I) and (III) 

(e) All (I) (II) and (III) 

 

Q18. Vanish into thin air 

(I) As happened during and after the first war of independence, the money has disappeared into thin 

air. 

(II) You can tell these mysterious trails were not made yesterday, because of the way they seem to 

disappear into thin air. 

(III) The Cheshire cat is an odd character and he causes confusion when he literally disappears into 

thin air. 

(a) Only (I) 

(b) Only (II) 

(c) Both (I) and (II) 

(d) Only (III) 

(e) All (I) (II) and (III) 

 



7 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q19. Rags to riches 

(I) The rags on the body of boy converted into rich looking clothes after the curse was lifted.  

(II) Mr. RK Mittal was homeless and went on to create the largest and most successful company in the 

country. It’s really a rag to riches story. 

(III) He went from rags to riches after his roadside performances were noticed by a famous movie 

maker and he was offered roles in his movies. 

(a) Only (I) 

(b) Only (II) 

(c) Both (I) and (III) 

(d) Only (III) 

(e) All (I) (II) and (III) 

 

Q20. With a high hand  

(I) Florida's situation is ideal for making use of major sources of ocean power with a high hand. 

(II) The teacher handles the naughty students with a high hand. 

(III) She's always so arrogant and high-handed in her dealings with people. 

(a) Only (I) 

(b) Only (II) 

(c) Both (I) and (III) 

(d) Both (II) and (III) 

(e) All (I) (II) and (III) 

 

Directions (21-25): In the following questions there is a sentence containing four highlighted words 

which have been numbered. These words may/ may not be misplaced in the sentences and thus the 

sentences may/ may not be contextually and grammatically correct. You need to find the words and 

interchange the words to form grammatically and contextually correct sentences. The answer would 

be the numerical of the words that need interchanging. If there is no interchanging required than 

mark (e) i.e. “No change required” as your answer. 

 

Q21. For years, Indian (1) business leaders have been (2) future in their rating of the domestic 

economy even while (3) holding out visions of a bright (4) generous for their companies. 

(a) (1)-(2) 

(b) (2)-(4) 

(c) Both (2)-(3) and (1)-(4) 

(d) Both (1)-(3) and (2)-(4) 

(e) No change required 

 

Q22. As an (1) higher, gold is not an “asset", (2) strictly speaking. It is scarce and valuable, but its (3) 

possession yields nothing even if you can sell it at a (4) investment price for capital gains. 

(a) (1)-(4) 

(b) (2)-(4) 

(c) Both (1)-(2) and (3)-(4) 

(d) Both (1)-(3) and (2)-(4) 

(e) No change required 
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Q23. US President Donald Trump has (1) unfairly developing countries, particularly China and 

India, of (2) accused benefitting from their “developing country" status (3) special the World Trade 

Organization (WTO) regime which permits such countries (4) under and differential treatment. 

(a) (1)-(2) 

(b) (3)-(1) 

(c) Both (1)-(2) and (3)-(4) 

(d) Both (1)-(3) and (2)-(4) 

(e) No change required 

 

Q24. The usual (1) demand rule is that the policy response to a structural slowdown is through 

economic (2) slowdown that ease supply constraints. And a cyclical (3) reforms has to be tackled 

with measures to stimulate (4) thumb. 

(a) (2)-(4) 

(b) (1)-(2) 

(c) Both (1)-(2) and (3)-(4) 

(d) Both (1)-(4) and (2)-(3) 

(e) No change required 

 

Q25. If there is one thing the 2008 global financial (1) crisis tells us, it is that the world of banking and 

finance cannot be run (2) purely on the basis of rules and regulations. No matter how good your (3) 

regulatory laws, human beings will find a way to get (4) around them. 

(a) (1)-(2) 

(b) (1)-(3) 

(c) Both (1)-(3) and (2)-(4) 

(d) Both (1)-(2) and (3)-(4) 

(e) No change required 

 

Directions (26-35): Read the following passage and answer the questions following it. Several 

alphabets are given to help you assist in answering those questions. 

 

If plastics demand follows its current trajectory, global plastics-waste volumes would grow from 260 

million tons per year in 2016 to 460 million tons per year by 2030, taking what is already a 

__________(A)________ environmental problem to a whole new level. (B) In the face of public (1) 

outcry about global plastics (2) starting, the chemical industry is (3) pollution to mobilize on this (4) 

issue. Our recent article “No time to waste” showed how industry leadership is moving beyond  

the use-once-and-discard approach—under which the plastics industry has grown up—

_____________________________(C) ________________________. As we underlined in that article, this 

is not only what society demands, and is becoming a condition for the industry to 

__________(D)_______ its license to operate, but could also represent an important and profitable 

new business opportunity. 
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That last (E) insight is built on our comprehensive assessment of where future global waste flows 

will come from, how they could be recycled, and what economic returns this activity could offer—

research that has filled a major gap in the public debate. (F) In this article, we outline a scenario for the 

plastics industry through which 50 percent of plastics worldwide could be reused or recycled by 2030—a 

fourfold increase over what is achieve today—and that also has the potential to create substantial value. 

Following that path, plastics reuse and recycling could generate profit-pool growth of as much as $60 

billion for the petrochemicals and plastics sector _________________________________ 

(G)___________________________. We also discuss the levels of support that will be needed more 

broadly across society, including from regulators, major plastics users such as consumer-packaged-

goods companies, and consumers, to get to this outcome. 

(H) For petrochemicals and plastics companies—and by (1) outline the chemical industry, since 

plastics production (2) accounts for well over one-third of the industry’s activities—this presents an 

array of threats and opportunities, and we (3) extension the kinds of strategic questions they will 

need to evaluate and the (4) choices to make. 

Our research shows that just 12 percent of plastics waste is currently reused or recycled. The fact that 

the great majority of used plastics goes to incineration, landfills, or dumps, means that 

_____________________(I) ____________________.Plastics production requires substantial capital 

investment and a substantial carbon footprint. (J) Reusing plastics not only reduces these investment needs 

but can also contribute to reducing total industrial carbon emissions. 

 

Q26. Which of the following word given in the options should come at the place marked as (A) in the 

above passage to make it grammatically correct and meaningful? Also, the word should fill in the 

two sentences given below to make them contextually correct and meaningful. 

(i) The new tax regulations have landed some of the smaller companies in ____________________ 

trouble.  

(ii) But far too often there is risk of ____________________ direct harm when a rigorous assessment of 

benefits and harms is undertaken. 

(a) consequence 

(b) psychological 

(c) illegible 

(d) serious 

(e) None of these 

 

Q27. The sentence given in (B) has four words given in bold. Amongst the given bold words which of 

the followings must interchange to make the sentence grammatically and contextually correct and 

meaningful? 

(a) 1-2 

(b) 2-4 

(c) 2-3 

(d) 1-3 

(e) 3-4 
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Q28. Which of the following phrases should fill the blank (C) to make it contextually and 

grammatically meaningful and correct respectively? 

(a) there needs to be a special care to deal with the issue of national hunger program. 

(b) and embracing an expanded definition of product stewardship that includes dealing with plastics 

waste. 

(c) instead of going to the government , the authorities should figure the problem themselves and 

should solve it. 

(d) the deserving individuals will be awarded by the government during the rally and roadshow. 

(e) None of these 

 

Q29. Which of the following word given in the options should come at the place marked as (D) in the 

above passage to make it grammatically correct and meaningful? Also, the word should fill in the 

two sentences given below to make them contextually correct and meaningful. 

(i) At what rate do learners learn and ______________ new vocabulary from reading a graded reader 

is an interesting question. 

(ii) The office must _________________ all e-mails pertaining to audits for at least 11 years. 

(a) termination 

(b) ultimate 

(c) retain 

(d) utterances 

(e) None of these 

 

Q30. Which of the following word/s mean/s the same as the word marked as (E) in the given 

passage? 

(i)comprehension 

(ii) cognizance 

(iii) abrupt 

(iv) sudden 

(a) (iii) 

(b) (ii),(iii) 

(c) (i),(ii) 

(d) (i),(ii),(iii) 

(e) None of the above 

 

Q31. In the passage given, a sentence (F) is italicized and is in 

bold. There may or may not be an error in one part of the 

sentence. Choose the part which has an error in it as your answer. 

(a) In this article, we outline a scenario for the plastics industry  

(b) through which 50 percent of plastics worldwide could be  

(c) reused or recycled by 2030—a fourfold increase over what is 

achieve today— 

(d) and that also has the potential to create substantial value.  

(e) No error 
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Q32. Which of the following phrases should fill the blank (G) to make it contextually and 

grammatically meaningful and correct respectively? 

(a) that is not what is desirable and the scientists should take stringent steps.  

(b) representing nearly two-thirds of its possible profit-pool growth over the period. 

(c) holds the persons in the question accountable for the excessive use of plastics. 

(d) emergence of the new technology for the recycling of plastics is beneficial for the planet. 

(e) None of these 

 

Q33. The sentence given in (H) has four words given in bold. Amongst the given bold words, which 

of the followings must replace each other to make the sentence contextually correct and meaningful? 

(a) 2-4 

(b) 1-3  

(c) 3-4 

(d) 1-4 

(e) 1-2 

 

Q34. Which of the following phrases should fill the blank (I) to make it contextually and 

grammatically meaningful and correct respectively? 

(a) success of scientists to provide the relevant technology to develop best from the waste. 

(b) and sudden increase in the amount of reuse of elastic paper and structures. 

(c) these materials are lost forever as a resource, despite plastics’ potential for reuse and recycling. 

(d) was demonstrated by the inability of the country's political leadership. 

(e) None of these 

 

Q35. In the passage given, a sentence (J) is italicized and is in bold. There may or may not be an error 

in one part of the sentence. Choose the part which has an error in it as your answer. 

(a) Reusing plastics not only  

(b) reduces these investment 

(c) needs but can also contribute to 

(d) reducing total industrial carbon emissions. 

(e) No error 

 

Directions (36-40): Rearrange the following six sentences (A), (B), (C), (D), (E), and (F) in the proper 

sequence to form a meaningful paragraph; then answer the questions given below them. 

(A) This is also due to the reason that States have had a passive role, invariably, having had to look 

up to the Central government for the development of airports and enhancing air connectivity.  

(B) The Regional Connectivity Scheme, UdeDeshkaAamNaagrik (UDAN), has become a game 

changer as this flagship programme has a built­in mechanism to develop stakes of State governments 

in the growth of the sector. 

(C) Civil aviation is a Central subject and one that barely got significant attention from the States.  

(D) It is evident from the fact that very few States in India have active civil aviation departments.  

(E) However, in the last four years, the situation has changed considerably.  

(F) The cooperation of States is seen as a major factor in the growth of the civil aviation sector. 
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Q36. After rearranging the given sentences and forming a coherent paragraph, then which of the 

following statement should be FOURTH sentence after the rearrangement? 

(a) A 

(b) F 

(c) B 

(d) E 

(e) C 

 

Q37. After rearranging the given sentences and forming a coherent paragraph, then which of the 

following statement should be SECOND sentence after the rearrangement? 

(a) A 

(b) D 

(c) B 

(d) E 

(e) C 

 

Q38. After rearranging the given sentences and forming a coherent paragraph, then which of the 

following statement should be SIXTH sentence after the rearrangement? 

(a) A 

(b) F 

(c) B 

(d) E 

(e) C 

 

Q39. After rearranging the given sentences and forming a coherent paragraph, then which of the 

following statement should be FIFTH sentence after the rearrangement? 

(a) A 

(b) F 

(c) B 

(d) E 

(e) C 

 

Q40. After rearranging the given sentences and forming a coherent paragraph, then which of the 

following statement should be THIRD sentence after the rearrangement? 

(a) A 

(b) F 

(c) B 

(d) E 

(e) C 



13 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Directions (41-43): In each of the questions below. Some statements are given followed by 

conclusions/group of conclusions. You have to assume all the statements to be true even if they seem 

to be at variance from the commonly known facts and then decide which of the given conclusions 

logically does not follow from the information given in the statements.  

 

Q41. Statements: Some London are Paris. Some New York are Dubai. No New York is Paris. 

Conclusions: 

(a) Some New York can be London 

(b) Some Dubai is Paris is a possibility. 

(c) All Paris can be Dubai 

(d) All London can be New York 

(e) Some London can be Dubai 

 

Q42. Statements: All park is garden. Some hotel is mansion. No park is mansion. 

Conclusions: 

(a)Some garden can be hotel 

(b) All park can be hotel 

(c) All hotel can be park 

(d) Some garden is park 

(e) Some garden is not mansion  

 

Q43. Statements: All computers are type writers. All type writers are recorders. No computer is 

Laptop. 

Conclusions: 

(a) Some recorders are computers.  

(b) Some recorders can be Laptop 

(c) All type writers are recorders 

(d) All computers are recorders 

(e) All type writers can be laptop 

 

Directions (44-46): Study the following information carefully and answer the questions given below: 

There are eight family members and three generations in a family. V is the grand-daughter of P. K is 

the sister-in-law of R. Q is the mother-in law of G. H is the brother-in law of P and is unmarried. G is 

married to R and is the father of V. M is the brother of R. G has no siblings and is not the son of P.  

 

Q44. How is V related to M? 

(a) Nephew 

(b) Niece 

(c) Cousin 

(d) Daughter 

(e) Cannot be determined 
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Q45. How many male members are there in the family? 

(a) Two 

(b) Three 

(c) Four 

(d) Cannot be determined 

(e) Five 

 

Q46. How is H related to R? 

(a) Father 

(b) Uncle 

(c) Brother 

(d) Cousin 

(e) Cannot be determined 

 

Directions (47-50): Study the information and answer the following questions: 

In a certain code language 

“mobile very important device” is coded as “ 20@Y 14#T 16@G 0@P” 

“online games popular now” is coded as “ 14@M 21@O 11@V 10#N” 

“India wins the trophy” is coded as “13@I 3@I 12@F 2#T” 

 

Q47. What is the code for “enthusiasm” in the given code language? 

(a) 18@X 

(b) 20@T 

(c) 18#T 

(d) 18#X 

(e) 20#X 

 

Q48. What is the code for “disease” in the given code language? 

(a) 17@U 

(b) 19#U 

(c) 17@Y 

(d) 17#Y 

(e) 19#Y 

 

Q49. 11@Z 12@J” is the code of which of the following words? 

(a) Number system 

(b) Right attitude 

(c) Common sense 

(d) Cricket team 

(e) None of these 

https://www.adda247.com/product-testseries/7883/fci-assistant-general-manager-2021-online-test-series
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Q50. What is the code for “General Knowledge” in the given code language? 

(a) 12@R 13@V 

(b) 12#R 13@V 

(c) 12@V 13#R 

(d) 12@V 13@R 

(e) 12#V 13#R 

 

Q51. In the word “INVESTMENT” all the consonants are written as their preceding letter and all the 

vowels are written as their following letter according to the English alphabetical series. Now all the 

letters are arranged in alphabetical order from left to right and all the repeated letters are eliminated. 

Then how many such pairs of letters are there each of which have as many letters between them in 

the word (both forward and backward) as they have in the English alphabetical series.  

(a) Two 

(b) Three 

(c) One 

(d) None 

(e) More than Three 

 

Directions (52-56): Study the following information carefully and answer the questions given 

below: 

 

Ten persons are sitting in a two parallel rows facing each other. A, B, C ,D and E sits in row 1 and 

faces South. P, Q, R, S and T sit in row 2 and faces north. Each of them have different salaries i.e. 6k, 

7k, 8k, 9k, 10k, 12k, 15k, 18k, 19k, 20k but not necessarily in the same order. There are two persons 

sitting between E and C whose salary is second lowest. A is not facing R and do not earn the highest 

salary. Q is sitting second to the right of P and is not facing either E or C. R is facing the person whose 

salary is a multiple of 5. B who is not an immediate neighbor of E is sitting at one of the extreme ends 

of the line. T who is not facing B and is not getting the highest salary is second to the left of P. Salary 

of A is double the salary of B but not 18k. S whose salary is 1k lesser than the salary of D is not an 

immediate neighbor of T and is not getting 19k. Q is getting salary more than S and less than E who is 

not getting the second highest salary. R is getting a salary of 8k. Difference between the salaries of Q 

and P is 5k.  

 

Q52. Who is sitting second to the left of the one who is getting 12k? 

(a) B 

(b) C 

(c) E 

(d) D 

(e) None of these 
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Q53. Who amongst the following is getting the highest salary? 

(a) E 

(b) Q 

(c) P 

(d) Cannot be determined 

(e) None of these 

 

Q54. Which of the following is false regarding S? 

(a) S is facing C 

(b) Salary of S is more than that of B 

(c) R is sitting second to the left of S 

(d) S is at extreme end of the line 

(e) P is an immediate neighbor of S 

 

Q55. Four of the following five are alike in a certain way and belong to a group. Which of the 

following does not belong to that group? 

(a) T-12k 

(b) A-19k 

(c) B-20k 

(d) R-7k 

(e) E-8k 

 

Q56. Which of the following is true regarding E? 

(a) E is an immediate neighbor of A 

(b) E faces immediate neighbor of P 

(c) E is getting the highest salary 

(d) E is sitting third to the right of C 

(e) P is getting lesser salary than E 

 

Directions (57-61): Six persons R, Z, G, L, T, and F are going for a holiday on different days of the 

week from Monday to Saturday but not necessarily in the same order. They work at different posts 

i.e. Clerk, PO, SO, Assistant Manager, Manager and Cashier. Three persons are going for a holiday 

between the Cashier and Clerk who is not going for holiday on Monday. PO who is not an immediate 

neighbor of either Cashier or Clerk is going for a holiday immediately before Z. The Manager is not 

going for a holiday on Monday. No one is going for a holiday between SO and F who is a cashier. T is 

not going for a holiday after Wednesday. L is neither PO nor Manager. Two persons are going for a 

holiday between T and Z. R is not the Manager. 

 

Q57. Who is going for a holiday on Thursday? 

(a) Manager  

(b) PO 

(c) R 

(d) Both (a) and (b) 

(e) Both (b) and (c) 
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Q58. Who is an Assistant Manager? 

(a) L 

(b) G 

(c) T 

(d) Z 

(e) None of these 

 

Q59. Which of the following is true regarding G? 

(a) G is going for holiday on Friday 

(b) G is an Assistant Manager 

(c) Two persons are going for holiday after G 

(d) G is not going after T 

(e) None of these 

 

Q60. Four of the following five are alike in a certain way and belongs to a group. Which of the 

following does not belong to that group? 

(a) L-Assistant Manager 

(b) G-Manager 

(c) T-Clerk 

(d) Z-SO 

(e) R-Cashier 

 

Q61. Number of persons going for holiday before G is same as the number of persons going for 

holiday after ___________ 

(a) Z 

(b) T 

(c) R 

(d) F 

(e) None of these 

 

Directions (62-66): In the following questions, the symbols @, #, %, $ and © are used with the 

following meaning as illustrated below- 

‘P#Q’ means ‘P is neither greater than nor equal to Q’ 

‘P©Q’ means ‘P is neither equal to nor smaller than Q’ 

‘P%Q’ means ‘P is neither smaller than nor greater than Q’ 

‘P$Q’ means ‘P is not smaller than Q’ 

‘P@Q’ means ‘P is not greater than Q’ 

Now in each of the following questions assuming the given statement to be true, find which of the 

three conclusions I, II and III given below them is/are true and give your answer accordingly. 

 



18 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q62. Statements: J@M©L$H%R 

Conclusions: I. J©R     II. M$H      III. H#J 

(a) None is true 

(b) Only I is true 

(c) Only I and II is true 

(d) Only III is true 

(e) Only II is true 

 

Q63. Statement: A#B$C©D#E 

Conclusions: I. A$C      II. A#C      III. B©E 

(a) Only I is true 

(b) Only II is true 

(c) Either I or II is true 

(d) III and either I or II is true 

(e) None is true 

 

Q64. Statements: R%G$H%J@K 

Conclusions: I. R©H      II. R$K     III. G©J 

(a) Only I is true 

(b) Only III is true 

(c) None is true 

(d) Both I and II is true 

(e) Only II is true 

 

Q65. Statements: A#B$C©D%E  

Conclusions: I. E#B     II. C@B      III. C©E 

(a) Only I is true 

(b) Only II is true 

(c) Both I and II is true 

(d) Only III is true 

(e) All are true 

 

Q66. Statements: R%G#H@J©K 

Conclusions: I. R#J      II. G@J      III. K©G 

(a) Only II is true 

(b) Only III is true 

(c) Both I and III is true 

(d) Only I is true 

(e) Both II and III is true 

 

mailto:II.C@B
mailto:II.C@B
mailto:II.G@J
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Q67. If we form the word by 1st, 5th and 6th letter of the word ‘PROBLEM’ and 3rd and 5th letter of 

the word ‘TRAIN’ then, what will be the 3rd letter of the new word from right end? If more than one 

word is formed, mark X as your answer.     

(a) P 

(b) L 

(c) A 

(d) E 

(e) X 

 

Directions (68-72): Study the following information carefully and answer the questions given 

below: 

 

Eight persons i.e. A, B, C, D, E, F, G and H were born on two different dates i.e. 12th or 21st of four 

different months i.e. January, March, April and June. Only two persons were born in a month. Each 

of them likes different subject i. e. English, Hindi, Computer, Physics, Chemistry, Biology, 

Mathematics and History but not necessarily in the same order. B who was not born either in January 

or April does not like Biology. H was not born in a month having 31 days. Two persons were born 

between the one who like Computer and the one who like English. The one who like Computer was 

not born on even numbered date. A who was born immediately after D does not like English, 

Computer and Mathematics. D was not born before E and does not like Hindi and Computer. No one 

was born before the one who likes Hindi. The one who likes Computer was not born in a month 

having 30 days. E who does not like Hindi and Computer was born on odd numbered date. G who 

likes History was not born either in March or April. The one who likes Physics was not born before 

the one who like English. The one who like Mathematics was born immediately before G but not on 

21st. F does not like Computer.  

 

Q68. Who was born on 12th March? 

(a) F 

(b) B 

(c) D 

(d) H 

(e) None of these 

 

Q69. E like which subject? 

(a) Chemistry 

(b) English 

(c) Physics 

(d) Biology 

(e) Mathematics 

https://www.adda247.com/product-testseries/7435/bank-exam-online-test-series-prime-test-pack-for-sbi-po-clerk-ibps-po-clerk-rrb-po-clerk-rbi-assistant-and-others-2021-22
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Q70. Who among the following likes Hindi? 

(a) A 

(b) F 

(c) C 

(d) B 

(e) H 

 

Q71. Number of persons after the one who like Physics is the same as the number of persons before 

the one who like__________ 

(a) Computer 

(b) English 

(c) Biology 

(d) Chemistry 

(e) Mathematics 

 

Q72. Who among the following was born in the same month in which the one who like Physics was 

born? 

(a) D 

(b) F 

(c) B 

(d) H 

(e) E 

 

Q73. Statement: Bangladesh replaces Pakistan as hub of fake Indian currency recently. 

Which of the following negates the given statement? 

(I) Apparently, the value of illegal notes entering India from Bangladesh seems to have come down as 

production bases of fake currencies in that country have taken a hit.  

(II) Bangladesh is emerging as a source for production and smuggling of fake Rs. 2,000 notes suggest 

official data. 

(III) Earlier, fake currency manufactured in Pakistan and Bangladesh was smuggled through 13 

frontiers located in the border states of Jammu, Punjab, Rajasthan, Gujarat, West Bengal, Assam and 

Meghalaya. 

(a) Only (II) 

(b) Only (II) and (I)  

(c) Only (III) and (II) 

(d) Only (I) 

(e) None of these 
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Q74. Statement-Congress vice-president Rahul Gandhi on Tuesday said “politics of divide and 

polarisation” was isolating people as he criticised the Modi government over its economic policies. 

Which of the following substantiates the given statement? 

(I) He also criticised the government over the recent spate in lynchings, saying the politics of 

polarisation was very dangerous. 

(II) When the Congress came to power terrorism was rampant in Kashmir, “when we finished there 

was peace, we had broken the back of terrorism”, Gandhi said. 

(III) Modi government’s decision of Demonetisation and hurriedly implementation of the goods and 

services tax (GST) had hit growth hard, he said. 

(a) Only (III)  

(b) Only (II)  

(c) Only (I) 

(d) Both (I) and (III) 

(e) None of these 

 

Direction (75-79): Study the following information carefully and answer the questions given 

below: 

 

There are nine boxes which are kept one above the other such that the box which is placed at the 

bottom most position is numbered 1 and so on till the box which is placed at the top position is 

numbered 9. 

All the boxes contain different number of pens in it.  

Note: The number of pens in a box is equal to the multiple of the place number of the box which is 

kept immediately above it i.e. The number of pens in the box which is kept at the bottom is equal to 

the multiple of is 2, 4, 6… and so on and the number of pens in the box which is placed at the top (9th 

position) is 10, 20, 30 and so on. 

Only three boxes are kept between W and the box which contains 20 pens. There are as many boxes 

are kept above T as below R who contains 33 pens. Two boxes are kept between the boxes which have 

21 and 50 pens. Box which contains 25 pens is kept immediate above V and immediate below U. 

There are as many boxes are between P and the box which contains 45 pens as between P and Q. Box 

which contains 64 pens is kept below X and above S. Box which have 42 pens is kept above the box 

which have 30 pens.  

 

Q75. Which among the following box contain 50 pens? 

(a) W 

(b) X 

(c) U 

(d) V 

(e) None of these 
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Q76. How many pens are in the box S? 

(a) 20 

(b) 30 

(c) 25 

(d) 50 

(e) None of these 

 

Q77. How many boxes are kept above Q? 

(a) Three 

(b) Four 

(c) Five 

(d) Six 

(e) None of these 

 

Q78. If T is related to 42, X is related to 21 then, in the same manner which box is related to 33? 

(a) P 

(b) Q 

(c) R 

(d) S 

(e) None of these 

 

Q79. Four of the following five are alike in certain way and form a group, find the one which does 

not belong to that group? 

(a) R-30 

(b) V-33 

(c) U-20 

(d) P-42 

(e) T-64 

 

Q80. Statement-Surrender and join mainstream for safe future, security agencies tell militants 

(I) Boosted by the success against the rank and file of militants in recent times, security forces have 

jointly appealed to the insurgents and their overground workers to surrender and join the 

mainstream. 

(II) The Army Major speaks about the stunning mission in a new book being brought out on the first 

anniversary of surgical strikes in Pakistan occupied Kashmir. 

(III) Security forces supposed to rehabilitate and help a militant join the mainstream if he is arrested 

or surrenders provided, he is not involved in any heinous crime. 

Which of the following is not-in-line with the above statement? 

(a) Only (III)  

(b) Only (II)  

(c) Only (I) 

(d) Both (I) and (III) 

(e) None of these 

http://timesofindia.indiatimes.com/topic/Army
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Q81. Tesla Inc. Has registered its first fully owned subsidiary in which city of India? 

(a) Chennai 

(b) New Delhi 

(c) Hyderabad 

(d) Ahmadabad 

(e) Bangalore 

 

Q82. Sadyr Japarov has been elected as the President of which country? 

(a) Kazakhstan 

(b) Mongolia 

(c) Kyrgyzstan 

(d) Uzbekistan 

(e) Tajikistan 

 

Q83. If Bishkek is the capital of Kyrgyzstan, then what is the currency of the country? 

(a) manat 

(b) tenge 

(c) som 

(d) lari 

(e) None of these 

 

Q84. The Baisipalli Wildlife Sanctuary is in which of the following state of India? 

(a) Gujarat 

(b) Chhattisgarh 

(c) Himachal Pradesh 

(d) Odisha 

(e) None of the above 

 

Q85. Where is the headquarter of Multilateral Investment Guarantee Agency (MIGA) located? 

(a) New York  

(b) Geneva 

(c) Brussels 

(d) Rome 

(e) Washington D.C.  

 

Q86. An asset that has remained a non-performing asset for a period exceeding 12 months is known 

as a: 

(a) Sub-standard asset 

(b) Doubtful asset 

(c) Loss asset 

(d) Sunk asset 

(e) None of the above 
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Q87. The Indian Post Payments Bank (IPPB) has partnered with which digital payments company to 

promote financial inclusion among underserved and unbanked segments of the country? 

(a) Reserve Bank information Technology Pvt Ltd (ReBIT) 

(b) Indian Financial Technology & Allied Services 

(c) Facebook 

(d) Financial Software and Systems  

(e) WhatsApp 

 

Q88. Defence Minister Rajnath Singh has unveiled the India’s first ‘Driverless Metro Car’ for which 

city? 

(a) Lucknow 

(b) Kolkata 

(c) Mumbai 

(d) Chennai 

(e) Bangalore 

 

Q89. The inaugural two-day ‘Prarambh’, Startup India International Summit has been organised in 

which city? 

(a) Indore 

(b) Lucknow 

(c) Mumbai 

(d) New Delhi 

(e) Chennai 

 

Q90. What is the total outlay for the Pradhan Mantri Kaushal Vikas Yojana 3.0, launched by the 

Government for 2020-21? 

(a) Rs 840.60 crore 

(b) Rs 580.48 crore 

(c) Rs 674.60 crore 

(d) Rs 948.90 crore 

(e) Rs 873.40 crore 

 

Q91. What are masala bonds? 

(a) Rupee denominated domestic bonds 

(b) Rupee denominated overseas bonds 

(c) Dollar denominated overseas bonds 

(d) Dollar denominated domestic bonds 

(e) None of these 
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Q92. In which of the following states is the Koyna dam located? 

(a) Madhya Pradesh 

(b) Karnataka 

(c) Tamil Nadu 

(d) Maharashtra 

(e) Telangana 

 

Q93. Who among the following has been appointed as the Vice-Chairs of 2021 Global Board of 

Directors of US-India Business Council (USIBC)? 

(a) Dilip Shanghvi 

(b) Azim Premji 

(c) Kiran Mazumdar-Shaw  

(d) Piyush Sharma 

(e) Shiv Nadar 

 

Q94. In which city is the Sheikh Zayed Stadium, which is a cricket ground, located? 

(a) Abu Dhabi, UAE 

(b) Dubai, UAE 

(c) Karachi, Pakistan 

(d) Lahore, Pakistan 

(e) Hyderabad, India  

 

Q95. Which Ministry has organised the month-long mass awareness campaign titled ‘SAKSHAM’? 

(a) Ministry of Steel 

(b) Ministry of Petroleum and Natural Gas 

(c) Ministry of Health and Family Welfare 

(d) Ministry of Social Justice and Empowerment 

(e) Ministry of Chemicals and Fertilizers 

 

Q96. Which was the first commercial bank of India? 

(a) State Bank of India 

(b) General Bank of India 

(c) Oudh Commercial Bank 

(d) Oriental Bank of Commerce 

(e) None of these 

 

Q97. At which rate, Reserve Bank of India borrows money from commercial banks? 

(a) Bank Rate 

(b) Repo Rate 

(c) Reverse Repo Rate 

(d) Statutory Liquidity Ratio 

(e) None of the above 
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Q98. Which bank has partnered with Aditya Birla Wellness Private Limited to launch Wellness 

themed credit cards? 

(a) ICICI Bank 

(b) HDFC Bank 

(c) YES Bank 

(d) Axis Bank 

(e) Canara Bank 

 

Q99. Who has been appointed as President of the UN Human Rights Council for 2021? 

(a) Arun Palli 

(b) B.S. Walia 

(c) Deep Singh 

(d) Nazhat Shameem Khan  

(e) Hrishikesh Roy 

 

Q100. Which bank has tied up with Niyo, a new age fintech, to issue prepaid cards to workers of 

Micro, Small & Medium Enterprises (MSMEs)? 

(a) Axis Bank 

(b) HDFC Bank 

(c) Bank of India 

(d) ICICI Bank 

(e) Federal Bank 

 

Q101. What is the capital of Cuba? 

(a) Santiago 

(b) Varadero 

(c) Havana 

(d) Santa Clara 

(e) Cancún  

 

Q102. World press Freedom Day ______: 

(a) 3rd May 

(b) 28th February 

(c) 8th March 

(d) 16th September 

(e) None of these 

 

Q103. Effective revenue deficit is: 

(a) Total expenditure – total receipts 

(b) Revenue expenditure – revenue receipts 

(c) Fiscal deficit – interest payments 

(d) Revenue deficit – grants for capital creation 

(e) None of the above  
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Q104. 'Galloping Inflation' is also known as _____.  

(a) Creeping Inflation 

(b) Walking Inflation 

(c) Running Inflation 

(d) Hyper Inflation 

(e) None of the above 

 

Q105. Juri Ratas, Prime Minister of which country resigned amid allegations of corruption against his 

party? 

(a) Latvia 

(b) Norway 

(c) Finland 

(d) Estonia 

(e) Belarus 

 

Q106. Kolkata, the capital city of West Bengal, is situated along which river? 

(a) Hooghly 

(b) Mahananda 

(c) Damodar 

(d) Testa 

(e) Brahmaputra  

 

Q107. The cheque in which the signature of the drawer of the cheque is not genuine is called 

_____________. 

(a) Ante-dated cheque 

(b) Forged cheque 

(c) Stale cheque 

(d) Post-dated cheque 

(e) None of the above 

 

Q108. Vittorio Storaro, cinematographer from which country was honoured with the Lifetime 

Achievement Award at the 51 editions of the International Film Festival of India (IFFI), held in Goa? 

(a) Spain 

(b) France 

(c) Italy 

(d) Norway 

(e) Greece 
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Q109. Which organisation released the report titled “Working from home from Invisibility to decent 

work’ that highlighted the need to adopt Global Labour Standards for home-based workers? 

(a) Socialist International 

(b) World Trade Organisation (WTO) 

(c) Association of Southeast Asia Nations 

(d) International Monetary Fund 

(e) International Labour Organization (ILO) 

 

Q110. Which state recently organised its 1st state level bird festival ‘Kalrav’, in January 2021? 

(a) Nagaland 

(b) Assam 

(c) West Bengal 

(d) Jharkhand 

(e) Bihar 

 

Q111. Which bank collaborated with Asian Development Bank (ADB) to make oceans Clean and 

Sustainable, to achieve Sustainable Development Goals (SDGs) and climate goals under Paris 

Agreement? 

(a) Asian Development Bank 

(b) Inter-American Development Bank 

(c) World Bank 

(d) European Investment Bank (EIB) 

(e) European Union 

 

Q112. Where is the headquarter of Canara Bank located? 

(a) Bangalore 

(b) Hyderabad 

(c) Mumbai 

(d) New Delhi 

(e) Chennai 

 

Q113. In context with Banking, what is a Certificate of Deposit? 

(a) Money Market Instrument 

(b) Negotiable Instrument 

(c) Transferable Instrument 

(d) All of the above 

(e) None of the above 

 

Q114. Where is India’s 1st Labour Movement Museum located? 

(a) Jamshedpur 

(b) Raipur 

(c) Bhilai 

(d) Alappuzha 

(e) Surat 



29 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q115. Padma awardee Dr V.Shanta passed away. She was India’s renowned _________. 

(a) Neurologist 

(b) Gynaecologist 

(c) Oncologist 

(d) Orthodontist 

(e) None of these 

 

Q116. Who recently got approval from RBI for appointment as MD & CEO of RBL Bank for 3 years, 

starting from June 30, 2021? 

(a) Vishwavir Ahuja 

(b) Chandra Shekhar Ghosh 

(c) Anup Kumar Sinha 

(d) Sumit Ghosh 

(e) Aditya Puri 

 

Q117. Who authored the book “The Language of History: Sanskrit Narratives of Muslim Pasts”? 

(a) Jhumpa Lahiri 

(b) Vishnu Sharma 

(c) Audrey Truschke 

(d) Anuj Dhar 

(e) Mamoni Raison Goswami 

 

Q118. What is the name of India's only mixed world heritage site? 

(a) Western Ghats 

(b) Historic City of Ahmadabad 

(c) Khangchendzonga National Park 

(d) Keibul Lamjao National Park 

(e) Taj Mahal 

 

Q119. Union Budget is always presented first in _________? 

(a) Lok Sabha 

(b) Rajya Sabha 

(c) Joint Session of the Parliament 

(d) Both a & b 

(e) None of the above 

 

Q120. Which of the following bank has a tagline “The Bankers to 

Every Indian “? 

(a) Bank of Baroda 

(b) Allahabad Bank 

(c) Canara Bank 

(d) Corporation Bank 

(e) SBI Bank 
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Q121. Computers manipulate data in many ways, and this manipulation is called ……………………. 

(a) Utilizing  

(b) Batching  

(c) Processing  

(d) Upgrading 

(e) None of these  

 

Q122. Analytical engine was developed by— 

(a) Herman Hollerith  

(b) Douglas  

(c) Charles Babbage  

(d) All of these  

(e) None of these  

 

Q123. Which key is used in combination with another key to perform a specific task?  

(a) Function  

(b) Spacebar  

(c) Arrow  

(d) Control  

(e) None of these  

 

Q124. Pascal— 

(a) is a computer language  

(b) is a unit of computer 

(c) is a computer operating system  

(d) is a type of computer 

(e) None of these 

 

Q125. Which of the following is true ? 

(a) Byte is a single digit in binary number.  

(b) Bit represents a group of digital numbers.  

(c) Byte is an eight digit binary number.  

(d) Bit is an eight digit binary number.  

(e) None of these 

 

Q126. ……………… is a process of searching bugs in software.  

(a) Compiling  

(b) Testing  

(c) Running  

(d) Debugging  

(e) None of these  
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Q127. An assembler is used to translate a program written in_________. 

(a) A low level language  

(b) Machine language  

(c) A high level language  

(d) Assembly language  

(e) None of these  

 

Q128. A computer cannot "boot" if it does not have the____  

(a) Compiler  

(b) Loader  

(c) Operating System  

(d) Assembler  

(e) None of these  

 

Q129. What is the full form of USB as used in computer related activities?  

(a) Universal Security Block  

(b) Ultra Serial Block  

(c) United Service Block  

(d) Universal Serial Bus  

(e) None of these  

 

Q130. Which generation of computer is still under developments  

(a) Fourth Generation  

(b) Fifth Generation  

(c) Sixth Generation  

(d) Seventh Generation  

(e) None of these  

 

Q131. The keyboard shortcut to restart your computer is  

(a) Alt + F4  

(b) Ctrl + F4 

(c) Ctrl + Alt + Del  

(d) Alt + Del 

(e) None of these 

 

Q132. Inkjet printer and laser printers are examples of ……… printers.  

(a) non impact 

(b) impact  

(c) dot matrix  

(d) thermal  

(e) None of these 
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Q133. Which of the following is single user computer with many features and good processing 

power?  

(a) Workstation  

(b) Minicomputer  

(c) Microcomputer  

(d) All of the above  

(e) None of these  

 

Q134. Saving is the process________. 

(a) To copy document from memory to storage 

(b) To change the content of any document 

(c) To change the display or entire document 

(d) To develop document by entering text using keyboard  

(e) None of these 

 

Q135. The shortcut key to search for a file or folder is __________.  

(a) F4  

(b) F1  

(c) F2 

(d) F3 

(e) F5 

 

Q136. The computer’s capability of distinguishing spoken words is called  

(a) Voice analysis  

(b) Speech acknowledgment  

(c) Voice recognition  

(d) Speech interpretation  

(e) Vocalization 

 

Q137. A character is represented in EBCDIC by 

(a) 1 bit 

(b) 4 bits 

(c) 8 bits  

(d) 16 bits 

(e) None of the above  

 

Q138. One megabyte equals approximately 

(a) 1,000 bits  

(b) 1,000 bytes  

(c) 1 million bytes  

(d) 1 million bits  

(e) 2,000 bytes 
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Q139. Which process checks to ensure the components of the computer are operating and connected 

properly? 

(a) Booting  

(b) Processing  

(c) Saving  

(d) Editing  

(e) None of these 

 

Q140. Which of the following is required to create a HTML document? 

(a) Telnet 

(b) Browser 

(c) Internet 

(d) Text Editor  

(e) Search Engine 

 

Q141. Internet Explorer and Safari are examples of ………... 

(a) Web pages  

(b) Web browsers 

(c) Web servers  

(d) Web sites 

(e) None of these.  

 

Q142. Arranging of data in a logical sequence is known as 

(a) Classifying  

(b) Searching  

(c) Sorting  

(d) Reproducing  

(e) None of these 

 

Q143. Which bar is usually located below the Title Bar that provides categorized options? 

(a) Menu Bar  

(c) Toolbar 

(b) Status bar  

(d) Scroll Bar 

(e) None of the above 

 

Q144. Example of telecommunication device is a ________ . 

(a) Modem  

(b) Printer  

(c) Keyboard  

(d) Scanner  

(e) Mouse  
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Q145. What is the maximum zoom percentage in Microsoft PowerPoint?  

(a) 100% 

(b) 200% 

(c) 400% 

(d) 500% 

(e) None of these  

 

Q146. Which of the following is/are file extension(s) in DOS?  

(a) EXE  

(b) BAT 

(c) COM 

(d) All of these  

(e) None of these  

 

Q147. ______ is a set of keywords, symbols and a system of rules for constructing statements by 

which human can communicate the instructions to be executed by a computer.  

(a) A computer program  

(b) A programming language  

(c) An assemble  

(d) Syntax 

(e) None of these  

 

Q148. The first electronic digital computer contained _________? 

(a) Electronic valves  

(b) Neural Networks  

(c) Fuzzy Logic  

(d) Semiconductor memory  

(e) None of these 

 

Q149. The software that is used to create text based documents is referred as  

(a) DBMS 

(b) Suits  

(c) Spreadsheets  

(d) Presentation software  

(e) Word processor  

 

Q150. Which of the following is web browser? 

(a) Netscape 

(b) Chrome 

(c) Firefox 

(d) Both (b) and (c) 

(e) All of the above 
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Q151. FORTRAN is a programming language. It is more suitable for _______. 

(a) business applications 

(b) marketing applications 

(c) scientific applications 

(d) statically calculative applications 

(e) None of these 

 

Q152. ________device is any hardware component that allows you to enter data and instructions into 

a computer. 

(a) Interaction  

(b) Input  

(c) Communication  

(d) Output  

(e) None of these  

 

Q153. What types of devices are CDs are DVDs? 

(a) Input  

(b) Output  

(c) Software  

(d) Optical Storage  

(e) Magnetic Storage 

 

Q154. The speed of clock frequency of a microprocessor is measured in ____________. 

(a) hertz 

(b) baud rate  

(c) CPS 

(d) bits  

(e) bytes  

 

Q155. To start a computers system, which of the following is not required necessarily?  

(a) RAM 

(b) Flash Drive 

(c) Accumulator 

(d) Motherboard 

(e) CPU 
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Q156. Which part of the hardware compensates the difference between the speeds of CPU and 

peripherals?  

(a) Scanner  

(b) Printer  

(c) Video card  

(d) Motherboard  

(e) Interface  

 

Q157. Which of the following fields of an e-mail hides the identity of the recipients? 

(a) To 

(b) From 

(c) Cc 

(d) Bcc 

(e) Subject 

 

Q158. A commonly used graphic format for the Web is: 

(a) GIF 

(b) BMP 

(c) TXT 

(d) LMP 

(e) TIF 

 

Q159. What is the technical term for the devices connected in a network? 

(a) Hubs  

(b) Nodes 

(c) Sections 

(d) Attachment units 

(e) Access pointers 

 

Q160. MS Word is a text or document editing application program that comes in the package of MS 

Office Suite. Which among the given options is not related with MS Word? 

(a) Page Layout 

(b) Antivirus  

(c) Mailings 

(d) Format Painter 

(e) SmartArt 
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Q161. A man has 250 l milk and each time he takes out 25 l of milk and replaced it with same 

quantity of water. If he repeats this process thrice then find quantity of milk in final solution (in liter). 

(a) 162.225  

(b) 182.25  

(c) 142.25 

(d) 122.25  

(e) 102.25 

 

Q162. Ratio of volume of two spheres is 27 : 64 and radius of larger sphere is 14 cm. If radius of 

smaller sphere is 7.5 cm less than side of a square, then find the area of that square (in cm2)? 

(a) 225 

(b) 484 

(c) 625 

(d) 324  

(e) 361 

 

Q163. Anurag & Shivam invested Rs. 15000 & Rs. 25000 respectively in a business and after four 

months Veer joined them with the capital of Rs. 30000. After eight months from the starting of 

business Anurag added Rs. 5000 more, while Shivam withdrew same amount from his initial 

investment. If after one year profit share of Shivam is Rs. 250 more than that of Anurag, then find 

profit share of Veer (in Rs)? 

(a) 750. 

(b) 625 

(c) 700 

(d) 840 

(e) 960 

 

Q164. A shopkeeper gives one article free at purchase of every 

four article and also allows 10% discount. If he wants to earn 8% 

profit then find market price is what percent of cost price of each 

article. 

(a) 150% 

(b) 50% 

(c) 100% 

(d) Can’t be determined 

(e) 20% 
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Q165. The ratio of daily wage of A, B & C is 21 : 16 : 18 respectively and if all three workers work on 

Sunday, then each get Rs. 125 extras on that day. On Sunday ratio of wage of A, B & C is 26 : 21 : 23, 

then find the difference between daily wage of A & C (in Rs.) ? 

(a) 64 

(b) 75  

(c) 90 

(d) 125 

(e) 100 

 

Direction (166 −𝟏𝟕𝟎) : Given below pie chart shows percentage distribution of people visited to a 

restaurant on six different days of week, while table shows ratio of male to female out of them. Read 

the data carefully and answer the questions. 

  
Days Ratio of male to female 

Monday 5 : 3 

Tuesday 7 : 5 

Wednesday 9 : 7 

Thursday 2 : 1 

Friday 8 : 7 

Saturday 3 : 1 

 

Q166. If difference between total female visited restaurant on Tuesday and total male visited 

restaurant on Saturday is 70, then find total number of male who have visited restaurant on Thursday 

& Friday together? 

(a) 720 

(b) 840 

(c) 960 

(d) 640 

(e) 780 

12%

16%

22%20%

25%

5%

Monday Tuesday Wednesday

Thrusday Friday Saturday



39 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q167. What will be the ratio of total female visited restaurant on Monday & Thursday together to 

total male visited restaurant on Friday? 

(a) 67 : 90 

(b) 67 : 92 

(c) 63 : 80 

(d) 65 : 93 

(e) 67 : 80 

 

Q168. If difference between male and female visited restaurant on Wednesday is 132, then find 

difference between total people visited restaurant on Friday & Saturday? 

(a) 1080 

(b) 960 

(c) 1060 

(d) 990 

(e) 920 

 

Q169. Total male visited restaurant on Monday & Thursday together is approximate what percent 

more than total female visited restaurant on Friday? 

(a) 78% 

(b) 84% 

(c) 96% 

(d) 64% 

(e) 72% 

 

Q170. If total female visited restaurant on Tuesday, Friday & Saturday together is 1175, then find 

total number of males visited restaurant on Monday & Thursday together? 

(a) 1280 

(b) 1250 

(c) 1060 

(d) 1190 

(e) 1120 

 

Direction (171 − 𝟏𝟕𝟒) : Read the following information and answer the questions. 

 

In a class there are 78 students and they like at least one subjects out of three subjects (i.e. Math, 

English & History) . Total number of students who like only History are double of the number of 

students who like all the three subjects, while total 34 students like Math. Total number of students 

who like only Math are two less than total number of students who like only History, the total 

number of students who like only English are equal to total number of students who like English & 

History. The number of students who like only English and history are 6 while 20 students like Math 

also like at least one more subject. And who like English are 36. 
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Q171. Find the ratio of total number of students who like all three subjects to number of students who 

like only English? 

(a) 4 : 5 

(b) 4 : 9 

(c) 3 : 7 

(d) 4 : 7 

(e) 3 : 5 

 

Q172. Total number of students who like only History & only Math together is what percent more 

than total number of students who like History & English? 

(a) 114 
2

7
% 

(b) 116 
2

7
% 

(c) 118 
2

7
% 

(d) 110 
2

7
% 

(e) 108 
2

7
% 

 

Q173. Find total number of students who like at least two subjects? 

(a) 32 

(b) 38 

(c) 42 

(d) 44 

(e) 34 

 

Q174. Find the total number of students who like only one subject? 

(a) 36 

(b) 48 

(c) 44 

(d) 52 

(e) 56 

 

Q175. A committee of 6 members is to be selected from the group of 7 men and 5 women. Find the 

probability that committee contains equal number of men and women? 

(a) 
23

66
 

(b) 
25

66
 

(c) 
27

55
 

(d) 
23

67
 

(e) None of these 
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Q176. A man invests a sum of 3600 in two part one at rate of 5% and other at rate of 7% and get total 

interest 204 as SI at the end of year. Find what part was invested at 7% rate? 

(a) 1200 

(b) 2400 

(c) 1800 

(d) 3000 

(e) 600 

 

Q177. A boat can cover 2.5 km distance in 15 minutes in still water. Speed of stream is half of speed of 

boat in still water. If boat takes 1
2

3
 hour to row a place and back, then find how far is the place? 

(a) 25/2 km 

(b) 25/4 km 

(c) 15/2 km 

(d) 15 km 

(e) 25 km 
 

Q178. Adarsh is two years older than Ayush and ratio of present age of Adarsh and Sameer is 13 : 15 

and. If ratio between age of Ayush & Sameer after three years is 9 : 11, then find the difference 

between Adarsh age after five years & Sameer’s present age (in year)? 

(a) 1  

(b) 2 

(c) 3 

(d) 4  

(e) 5 

 

Q179. A can do 
1

5
th of work in 4 days, B and C can do 20% and 33

1

3
% of work in 3 and 10 days 

respectively. If A and C work for 8 days and remaining work was done by B and C together, then 

find no of days C worked for. 

(a) 3
1

3
𝑑𝑎𝑦𝑠 

(b) 8
1

3
𝑑𝑎𝑦𝑠 

(c) 11
1

3
𝑑𝑎𝑦𝑠 

(d) 5
1

3
 𝑑𝑎𝑦𝑠 

(e) 6
1

3
 𝑑𝑎𝑦𝑠 

 

Directions (180 −𝟏𝟖𝟑): What comes at the place of questions marks regarding given pattern of series. 

 

Q180. 42, 66, ? , 186, 282, 402  

(a) 104 

(b) 114 

(c) 124 

(d) 116 

(e) 118 
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Q181. 45, 59, 91, ? , 241, 375  

(a) 149 

(b) 139 

(c) 145 

(d) 143 

(e) 148 

 

Q182. 64, ? , 240, 840, 3780, 20790  

(a) 128 

(b) 32 

(c) 86 

(d) 84 

(e) 96 

 

Q183. 64, 128, 32, ? , 16, 32  

(a) 68 

(b) 60 

(c) 62 

(d) 64 

(e) 56 

 

Directions (184−𝟏𝟖𝟔): The following questions are accompanied by two statements (I) and (II). 

You have to determine which statements (s) is/are sufficient/necessary to answer the questions.  

(a) Statement (I) alone is sufficient to answer the question but statement (II) alone is not sufficient to 

answer the questions. 

(b) Statement (II) alone is sufficient to answer the question but statement (I) alone is not sufficient to 

answer the question. 

(c) Both the statements taken together are necessary to answer the questions, but neither of the 

statements alone is sufficient to answer the question. 

(d) Either statement (I) or statement (II) is sufficient to answer the question. 

(e) Statements (I) and (II) together are not sufficient to answer the question. 

 

Q184. Average age of A, B & C is 32 years, what will the age of A after three year? 

I. Ratio between age of A and C is 11 : 12, while age of B is 9 years less than C. 

II. Ratio between age of A & B is 11 : 9 , while between B & C is 9 : 12. 

 

Q185. Ratio between length of two trains is 4 : 7 , time taken by longer train to cross a platform ‘P’. 

I. Speed of smaller & longer train is 108 km/hr & 96 km/hr respectively. Both trains cross each other 

in 99 sec running in same direction and smaller train crosses platform ‘P’ in 10 sec. 

II. Speed of smaller & longer train is 108 km/hr & 96 km/hr respectively. Both trains cross each other 

in 
99

17
𝑠𝑒𝑐 running opposite direction and smaller train crosses platform ‘P’ in 10 sec. 
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Q186. An amount divided among A, B & C. Difference between share of A & B? 

I. Share of B is 10 times of share of C, while share of A is 20% more than B. 

II. Difference between share of B & C together and share A is 184.5. 

 

Direction (187 −𝟏𝟗𝟎): Given below bar graph shows percentage increment (in kg) in production of 

total crop (Rice + wheat) and also shows percentage increment (in kg) in production of rice in the five 

successive years. Read the data carefully and answer the question. 

 
Note − Out of total production of crop in the year 2010, 60% crop is wheat. 

 

Q187. If Difference between total rice & wheat production in the year 2011 is 270 kg, then find the 

Total crop production in the year 2014? 

(a) 1875. 25 kg 

(b) 1870.20 kg  

(c) 1896.25 kg 

(d) 1856.25 kg 

(e) 1894.25 kg 

 

Q188. Total wheat production in the year 2013 is approximate what percent of total crop production 

in the year 2015? 

(a) 20% 

(b) 26% 

(c) 30% 

(d) 36% 

(e) 48% 
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Q189. Total wheat production in the year 2012 is 4980 kg, then 

find total wheat production in the year 2014? 

(a) 7915 kg 

(b) 7965 kg 

(c) 7985 kg 

(d) 7975 kg 

(e) 7935 kg 

 

Q190. Find the ratio between total wheat productions in the year 

2013 to total crop production in the year 2014? 

(a) 68 : 175 

(b) 68 : 195 

(c) 68 : 125 

(d) 68 : 165 

(e) 68 : 145 
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